
Calculer	une	somme,	un	complément	ou	une	différence

Fiche

Au	jeu	de	Yam's,	Candice	a	totalisé	687	points	et	Yohan,	599.

•	Combien	de	points	ont-ils	à	eux	deux	?

Pour	répondre,	il	faut	calculer	la	somme	des	points	de	Candice	(687)	et	des	points	de	Yohan	(599).

On	effectue	donc	l'addition	:	687	+	599	=	1286.

•	Combien	de	points	faut-il	à	Yohan	pour	rattraper	Candice	?

Pour	répondre,	il	faut	calculer	le	complément	de	599	à	687	ou	la	différence	entre	687	et	599.

On	effectue	donc	l'addition	à	trou	:	599	+	?	=	687	ou	la	soustraction	:	687	−	599	=	?

On	trouve	dans	les	deux	cas	88.
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